Solving Equations

	Forward
	
	Backwards

	□
	+ 3    =
	□
	
	□
	
	□

	□
	- 2    =
	□
	
	□
	
	□

	□
	× 4    =
	□
	
	□
	
	□

	□
	× (-3)   =
	□
	
	□
	
	□

	□
	÷  2   =
	□
	
	□
	
	□

	□
	÷  (-2)   =
	□
	
	□
	
	□


Pick a mystery number.

□

Choose 2 operations to perform on it.

Using the rules of BEDMAS which order would you perform these operations.

□ ___ ___ = ___
If you wanted to go backwards and undo these operations what would you do first, what would you do second?

__   ___  __ =  □

When you are solving for x (a mystery number) using algebra, you do BEDMAS backwards!
Solve for x.
x +  5 = 9

x – 6 = 2

x + 7  = 3

x – 5   = - 3

2x = 18

-3x  = 12

x/ 2 = 10

x/(-5) = 2 
2x + 4 = 20
3x – 5  = 1

10x – 2 + 28

5 + 3x = 23

-5x + 1 = 16

-4x – 1 = -13

15 – 6 x = 3

